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eng

ST-15 RRBPO (PRE) 2020

In each of the questions below is given three statements followed by two conclusions numbered I and I1. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

Statement:

Only a few S are W.

Only a few S are R.

NoRisT.

Conclusions:

I. All S being W is a possibility.

I1. Some W being R is a possibility.

01. None follows 02. Only I follows
03. Either I or II follows 04. Only II follows

05. BothI and II follow
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01. =2 ot SIqETT TE! F2aT 2 02. Faet [ SATHTOT FaT 2
03. =7 7 1 AT 11 SITHTIT FTAT &l 04. =3 11 STTHTT FIAT 2
05. 1 3f 1T STTET Fd gl

Solution for Question 1

eng

Q-2

eng

(=
°€0

In each of the questions below is given three statements followed by two conclusions numbered I and I1. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

Statement:
AllBare L.



Q-2

hi

Only a few L are D.
All D are K.
Conclusions:

I. Some K are D.
II. Some B are K.

01. None follows 02. Only I follows
03. Either I or II follows 04. Only II follows

05. Both I and II follow

A= RTTIeas 7 # i Fa7 RereE Sad ara ) fased 1 fRRoag ) srest RRerg st s g araarg, a gy
QIATIT: ATT ST % 1 FH gi | aoft foed o s fpraa R e feg o971 & @ $19 a1 o qrareaa: qra asat #1
ATZAAT FLA U T AT FATI FTATIHF €T F ATALT FLAT R |

FY:
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FAT FZ 2l L, D&
T D, K 2
Ao
LFSK,DZl
ILFIB, K&

01. =2 Y SITHTOT TRl FaT &l 02. Fae [ STEIT FAT &
03. 7T qT 13T I SATHLOT FHTaT &l 04. T 11 ST FIAT 2
05. 13f¥ [ I STTEIT Fd 5

Solution for Question 2

eng

eng

In each of the questions below is given three statements followed by two conclusions numbered I and II. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

Statement:

All M are D.

Only a few H are M.

All C are D.

Conclusions:

I. All D being H is a possibility.
I1. All C being H is a possibility.



01. None follows 02. Only I follows
03. Either I or II follows 04. Only II follows

05. Both I and II follow

= R rAFaad A Fagfegau s Fas area fased [T frgag ) srasY fRg Te S T AT ATAATE, AR 21 9
qTATAA: Tq a7t & are Frer g6 a9l fresed o s feeaa w1 0 Roro 971 § 9 #1791 fased ararega: sraaeat #1
HARAATHA U IIT AT FATT FTATDF €T & ALALT HIAT 7|

FA:
T M, D gl

F9 TZ ol H, M gl

a9t C,D 2

IRLED

L 75t D % H g1 T TF Sq1eT 8
IL &+ft C % H g9 Y Tsh 991a=T 2

01. T ¥ STTaTT 7L FaT 2 02. F3e [ SATHOT F2aT 2
03. 7 7 1 AT 1 SITHTIT FZAT &l 04. a1 STTHTT F2aT 2
05. 1 3f¥ [T =TT STTET Fd g

Solution for Question 3

eng

hi

Q-4

eng

Q-4

hi

In each of the questions below is given three statements followed by two conclusions numbered I and II. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given statements disregarding commonly known facts.

Statement:

All Care R.

Only a few M is R.

All Care D.

Conclusions:

I. Some D being M is a possibility.
II. All D are R.

01. None follows 02. Only I follows

03. Either I or II follows 04. Only II follows

05. Both I and II follow

3 frrreras 79 & da w97 fRyar g Sed gt fasss [ 1 fRgae ) srtost Ry au F g T acg A48, AR g1 S
AT 1A a7t % AT P g1 st s o s T e aa v 3 g g w1 & & 17 a1 fsad qrareaa: srq aeqt #7
HARAMT FLA U IET AT FATI FTATIHF €T § FTALT FLAT R |

FY:
T C,R 2



Fa9 TS & M, R &l

T C, D &

Ao

L % D % M g9 &l UF HATIT 2
IL 7 D, R 2

01. =TS ot STTETT T2 FaT 2 02. FF [ SATHLI FIaT &l
03. 7T qT 13T I SAHLOT FHEaT &l 04. T 11 ST FIAT 2
05. 1 3f¥ [ IT STTET Fd 5l

Solution for Question 4

eng
hi

Q-5 In each of the questions below is given three statements followed by two conclusions numbered I and II. You have to take the given

eng statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the

given conclusions logically follows from the given statements disregarding commonly known facts.

Statement-

Only a few F are L.

Only a few L are S.

AlL'S are H.

Conclusions-

I.NoHisL.

I1. All F being H is a possibility.

01. None follows 02. Only I follows
03. Either I or II follows 04. Only II follows

05. Both I and II follow
Q-5 T3 AT TTTAF ITH AT F97 FRY AT E s 127 fAesws [sh T Ry ag ) ot fRg au F 971 FT AT ATAATE, AR &1 9
hi qTATAA: {Tq a7t & are Frer g6 a9l fresd o st feeaa 3 0% Roro 971 § 9 #1791 fased ararega: sraaeat #1
HARAATHLA U IITATFATT FTATHF €T § ALALT HLAT 7 |

HI:
Fad 3 &l F, L gl
FAT TS 2l L, ST

it S, H &l

Aoy

L #T$ H, L 71

ILFHTFF HE #1 TH AT



01. T ¥ SIATT Tl FaT 2l 02. FFe [ SITHTOT FaT 2
03. =7 &Y [ T II ST F7aT 2 04. 3= [1 ST AT 2
05. 1307 I 11 A 74 &1

Solution for Question 5

eng

Passage for Question 6, 7, 8, 9, 10 (ST-15SRRBPOPRE(6-10R)2020)
eng Passage

Study the following information carefully and answer the question given below.

In a certain code:-

"You are the star" is written as "ab ef Ik cd"
"This book to me" is written as "pk mo na ta"
"This luck for you" is written as "na ka ab xy"
"You study the book" is written as "ab lk pk gl"

hi Passage
Frafafag STasTd F18q@ga T A9 FIITCH AT =73 1 wwFr3vcdAf™w

uF At w e w5

"You are the star" T "ab ef Ik cd" foraT STaT )
"This book to me" FT "pk mo na ta" for@T ST 3
"This luck for you" T "na ka ab xy" foraT StTar %I
"You study the book" T "ab Ik pk gl" foraT STaT 1

Q-6 What is the code for "star study"?

eng
01. naab 02. tamo
03. tacd 04. taef
05. efgl
Q-6 "star study" FT FI< FAT 82
hi
01. naab 02. tamo
03. tacd 04. taef
05. efgl
Solution for Question 6
eng
You are the star ab ef Ik cd
This (book to me pk: mo na ta
This luck for you na ka ab xy

You study the | book abl lk (pk) gl



You are the star

This (book ' to me

This luck for you

You study the | book

ab ef

pk' mo

na ka

ab |k

Ik cd

na ta
ab xy
pk) gl

Q-7 ‘Which one of the following represents "this luck not for you"?

eng

01. abxypkkagl
03. naxydmkaab
05. Either2 or 3

Q-7 "this tuck not for you" T 95 # & &= Z9ITAT &2

01. abxypkka gl

03. naxydmkaab

0S. Either 2 or 3
Solution for Question 7

eng
You are the star
This  book ' to me
This luck for you
You study the [ book
hi

You are the star

This (book  to me

This luck for you

You study the [ book

Q-8 What is the code for 'are'?
eng

01. cd
03. ab

05. Cannot be determined
Q-8 ‘are’ % ToTT g =747 %‘?
hi

01. cd
03. ab

05. g T8t FT T
Solution for Question 8

eng

You are the star

This book to me

This luck for you

You study the book

02.
04.
02.
04.
ab ef
pk) mo
na ka
ab |k
ab ef
pk  mo
na ka
ab |k
02.
04.
02.
04.
ab ef
pk mo
na ka
ab Ik

na ka fe xy ab
ab xy pk ka ap
naka fe xy ab
ab xy pk ka ap
Ik cd
na ta
ab xy
pk gl
Ik cd
na ta
ab xy
pk) gl
ef
d
ef
d
Ik cd
na ta
ab xy
pk' gl



You are the star ab ef Ik cd
This (book to me pk. mo na ta
This luck for you na ka ab xy
You study the [ book ab Ik pk, gl
Q-9 ‘mo’ stands for which word?
eng
01. o 02. Either to or me
03. are 04. book
05. star
Q-9 T 9153 #7379 ‘mo’ B2
hi
01. to 02. 7TV to IT me
03. are 04. book
05. star

Solution for Question 9

eng
You | are the star ab ef Ik cd
This (book to me pk: mo na ta
This luck for you na ka ab xy
You study the [ book ab Ik (pk, gl
hi
You | are the star ab ef Ik cd
This (bhook to me pk) mo na ta
This luck for you na ka ab xy
You study the | book ab Ik pk) gl

Q-10  Which of the following represent these codes "ka Ik pk ta"?
eng

01. for the book to 02. are me study to
03. study for the book 04. me are you of

05. study the book to
Q-10 fA=ffad & FF-97 =7 T "ka Ik pk ta" FT FL0TT 22

01. for the book to 02. are me study to
03. study for the book 04. me are you of
05. study the book to

Solution for Question 10

eng
You | are the star ab ef Ik cd
This (book to me pk. mo na ta
This luck for you na ka ab xy
You study the | book ab Ik (pk gl
hi

Al are  the star ak af  Jk cd



This (book to me pk. mo na ta

This luck for you na ka ab xy

You study the ( book ab Ik (pk gl

Passage for Question 11, 12, 13, 14, 15 (ST-15SRRBPOPRE(11-15R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

Eight persons Z, Y, X, W, V, U, Q and S are sitting around a circle facing the centre. Four out of the eight persons drive Safari Car while four drive Innova Car. No
two persons who drive Safari Car are immediate neighbours of each other. U does not drive a Safari Car. Y is an immediate neighbour of U but not of S. Z, who
drives Safari Car sits third to the left of S. U and X are immediate neighbours of each other. Q, who drives Innova Car sits second to the right of V.

hi Passage
aafaa ITFTH T ALEF AeqIT T A THAH T 77 w3t F ;TIA™W

M ARE Z, Y, X, W, V, U, Q #lIT S UF I & AT 3T Feg ol AT T@ Fh 9% g1 13 7T § | AT THE HTL FATd & STateh A< AT HTL FATT 8
FTE T 27 AE UF AL % [Ahead! TSIEl Agl g ST AR H1E T4 1 U TR F1E Al Fram gl Y, U T Haeadt 72t 8 feg S FTagi g1 Z, 5
TEET FE FATAT S, S % A4 9T 9257 g1 U 3T X UF Y o Hereadt qg®t 1 Q ST ST 1T FTdT &, V & I3 TET 937 2|

Q-11  Which of the following is true about W?
eng

01. Sand V are immediate neighbours of W. ~ 02. W drives Innova Car.
03. W sits second to the left of X. 04. S sits third to the left of W.

05. None is true
Q-11 fFedFIWFaRdFFTITTE?

hi
01. S3f¥ V, W F fAead T2 gl 02. W HET FTT FATAT &
03. X% ard gET W T3T 2 04. W F T3 ATEeT S 2T B
05. FT< a7 21 2
Solution for Question 11
eng V (Innova)
z
(Safari) Y (Safari)
Q B 4 U (Innova)
(Innova)
W X (Safari)
(Safari) S
{Innova)
- vV g=irar
Z
AGENT Y HEIT
Q b ! U g
gaArar
w X HEHT
HEHT 5
O |
Q-12 In which of the following pairs both the members drive Innova Car?
eng
01. v,z 02. W,S
03. X,Q 04. Vv,
05. Y,U

Q-12  Fwforfed & F19-8 21 AHAT 1 ST TATET FIL FATH 82



01. v,Z 02. W,S
03. X,Q 04. v,S
05. Y,U

Solution for Question 12

n;
eng V (Innova)
Z
(Safari) Y (Safari)
Q b 4 U (Innova)
(Innova)
W X (Safari)
(Safari) s
{Innova)
hi v ST
Z
AHET Y HHR
Q b 4 U geitar
sHMET
w X HHIET
TEE 5
sAar

Q-13 If all the eight persons are made to sit in alphabetical order in the anti-clockwise direction starting from Q, the positions of how many will remain unchanged
eng (excluding Q)?

01. None 02. One
03. Two 04. Three
05. Four

Q-13  =fa asfr sxfrat v aviarer w9 F e =21 % fFodid fTar & Q & wreew Fd gu Fara & a7 fhast % e srafiafid w@ae (Q 1 FrEav)

01. =7g =gl 02. U=
03. =7 04. fF
05. 91T

Solution for Question 13

en
g V (Innova)
Z
(Safari) Y (Safari)
Q it 4 U {Innova)
(Innova)
W X (Safari)
(Safari) S
(Innova)
= v g=irar
Z
HEHET Y HSIT
Q b 4 U geftar
sHEr
w X |
TEE 5
sAar

Q-14 Four of the following five are alike in a certain way based on the above arrangement and so form a group. Which is the one that does not belong to that
eng group?

01. w 02. X
03. v 04. s
05. 7



Q-14  SUIRH FAFET F Ao T FHferted o= 7 & =7 Gl A% s 7 uF qu97e 2 oY UF 99g a9 81 399 § 9 UF FA-97 & S 59 99 °
hi TET AT B2

01. w 02. X
03. v 04. S
05. 7

Solution for Question 14

eng

V (Innova)
Z
(Safari) Y (Safari)
Q b 4 U {Innova)
(Innova)
w X (Safari)
(Safari) s
{Innova)
hi v garar
4
HENT Y HEHI
Q b 4 U =AET
garar
w X HHHET
TFEHY 5
gear
Q-15 What is U’s position with respect to V?
eng
01. [mmediate right 02. Third to the right
03. Second to the right 04. Fourth to the left

05. Second to the left
Q-15  VHHEH H U T &7 A7 22

hi
01. = =Ty 02. =g drEw
03. =TT gERT 04. T3 =T
05. a1 gEeT
Solution for Question 15
eng V (Innova)
z
(Safari) Y (Safari)
Q b 4 U (Innova)
{Innova)
w X (Safari)
(Safari) S
{Innova)
I v g=irar
z
HEHET ¥ HEHT
Q b 4 U SAtEr
Z=Tar
w X WHHT
T 5
Sear

Passage for Question 16, 17, 18, 19, 20 (ST-15SRRBPOPRE(16-20R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

The ten floors in the Flora building are numbered 1 to 10 in such a way that the ground floor is numbered 1, the floor above it is numbered 2 and so on, and the top
floor is numbered 10. Each floor is purchased by one person. The names of individuals are K, J, I, H, G, F, E, D, C and B.




K purchases the fourth floor. G purchases that floor which is immediately below the F’s floor. F does not purchase the second and seventh floors. I does not
purchase 2nd, 3rd, 5th and 7th floors. H does not purchase the second topmost floor. E does not purchase any floor which below the G’s floor. G does not
purchase the fifth floor. C purchases an even-numbered floor above E’s floor. B purchases the topmost floor. The number of floors between C and H is the same as
the number of floors between H and G. D purchases the floor above the C’s floor. There is no floor between G and J similarly no floor between H and 1.

hi Passage

rafa T STasTd F18aMgE T A5TIT FE TATHR T AT I F IATRN

FART THIIA | a9 HIredl 0 1 & 10 T =7 T siferd B T g F5F a3 weie 7 9T 1, 9% FT AT JioTe &l §&3T 2 3T 0 26 avg, 9arg
HISTer T AT 10 f27m 79 81 T "o 1 U ARG g @LaT AT g SAfRdl # AW K, I, LH, G, F, E, D, C $T B2l

K, At 55 @diaar 81 G S 65 &1 @diadr g S F 1 657t % Qe «1+ g1 F, TaLT ¥ qraqal gioreti &l qgl @aeiadr gl 1, AL, qredt, 9i=at e
Hﬁ%ﬁﬂﬁﬁaﬁﬁm%m@'&maﬁnﬁﬁﬁﬁm%m G%Fﬂ%aﬁﬂﬁ%%ﬁﬁvﬂﬁm%m at=Et Hiorer &7 A2 @diadr gl
C, E &1 wforer & o< 7 70 "t aret §iore wdiedr g1 B 999 9T §iore #7 wiiadr gl C 37 H % = i giorat 1 gt H 37 G 3 = Y gfsret
#T HAT F aTE g1 D, C ¥ 6ot % U< i #ire @diadr gl G 3i¥ J % di= #irs 9iorer 781 g 8T a3 H 3T 1 fi= Firs 6o 981 81

Q-16  Who purchases second topmost floor?

eng
01. B 02. C
03. D 04. F
05. F
Q-16  TH HaE® ULt Ao w1 @Ear 22
hi
01. B 02. C
03. D 04. F
05. F
Solution for Question 16
eng 10| B
9 D
8 C
71 | E
6 I ,
5 H
- K
3 F
2 G
1 ]
B 10 | B
9 D
8 C
71 | E
6 I )
5 H
- K
3 E
2 G
1 i

Q-17 Who purchases that floor which is immediately below I’s floor?

eng
01. E 02. D
03. J 4. G
05. H

Q-17 9 37 €I FT GUIAT & ST [T 7S F T A= 82



01. E 02. D
03. J 04. G
05. H

Solution for Question 17

eng 10| B
9 | D
8 C
7 E
6 |1
5 i
4 | K
3 12 ’
2 G
1 J
[ 10| B
9 | D
8 C
7 R
6 |1
5 I |
4 | K
3 # ’
2 G
1 J

Q-18 Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
eng

01. T 02. K
03. C 04. G
05. D

Q-18 Fwffad o= § & A7 UF [MfHa ada & UF G0 g 3 A0 UF 99g a7 g198 UF F-97 § S 36 94 F Hafdd el 572

01. | 02. K
03. C 04. G
05. D

Solution for Question 18

eng 10| B
9 D
8 C
7 E
6 I
5 H
4 K
3 F
2 G
1 J
hi 10| B
9 D
8 C
74 E
6 I
5 H
4 K
3 F
2 G
1 J

Q-19  Who purchases that floor which is between F and H’s floors?
eng



01. G 02. 1
03. H 04. E

05. Other than these options
Q-19 19 39 Ao FT @LEaT g ST F ¥ H % 6ot & $i= 82
hi

0. G 02. |
03. g 04. E
05. = fasheut & sretrar

Solution for Question 19

eng 10| B
9 | D
8 | C
7 | E
6 |1
5 H
4 | K
3. |'E
2 |G
1 J
hi 10| B
9 | D
8 | C
7 | E
6 |1
3 | H
4 | K
3 | F
2 |G
1 J

Q-20  Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
eng

01. BD 02. H
03. KF 04. EC
05. GJ

Q-20 fAwforiad 9= § & 9 U R a8+ | UF q6419 8 ST T UF 94 a91d ¢l a8 TF I &7 2 ST 39 T4 § Hared Tal 67

01. BD 02. 1H
03. KF 04. EC
05. GJ

Solution for Question 20

eng 10| B
9 | D
8 | C
7 | E
6 |1
5 H
4 | K
3 | F
2 |G
1 J
hi 10| B
9 | D
8 | C
7 | E
6 |1
3 | H
4 | K
3 | F
2 |G
1 J




Q-21 How many are such pairs of letters there in the word UNLOCKCORONA each of which has many letters between them in the word (in both forward and

eng backward directions) as they have between them in the English alphabetical series?
01. Two 02. None
03. One 04. Three
05. Four

Q-21 958 UNLOCKCORONA ¥ 37&1%1 % U fohaey Siie €, forsl & wedre o =y arsa & (317 3ire i et femsit #) S5aw €1 sree € e 1 s =
hi SIS AVTHTAT HE@eT H 2 82

01. =7 02. =< gt
03. uw 04. qF
05. 91T

Solution for Question 21

v B e
UNLOCKCORONA

b T

/_\/\
UNLOCKEOQRONA

b T

Q-22 The position of how many alphabets will remain unchanged if each of the alphabets in the word LIFEBOOSTER is arranged in the alphabetical order from
eng right to left?

01. Two 02. Three
03. One 04. Five
05. Four

Q-22 @58 LIFEBOOSTER # T3 & T4 Wl &Y &l qUieTaT 7 # sqateard o srar &, a1 fohaer steret iy furfa zremaa vt
hi

01. =y 02. =
03. u% 04. 9=
05. 9T

Solution for Question 22

eng
L.1 FEEBE O ©OSTI|E|IR

TS ROO L1 FEE|B

L-§¥ FEB © 0O S TIE|R

TS ROO L | FEE|B

Q-23 In a certain code language ‘STANGOCHARLI' is coded as ‘HINAMUTYJASP’ and ‘BUTPHOBIDIMS’ is coded as ‘GZLHMTSZRXIO’ then how
eng will ‘COMANDERTION’ be coded in the same code language?

01. MYAOXNJDSHNM 02. MYZOXNJWSHMM
03. MYAOXNJWSHNM 04. MHAOXNJWTHNM

05. MYAOKNJWSHPM
Q-23 v [fd FE 99T § 'STANGOCHARLI' #T 'HINAMUTYJASP' % &9 # Fif=d 3371 747 & 3 'BUTPHOBIDIMS' & 'GZLHMTSZRXIO'
hi ®q F Frfed a1 A7 g T T 3 e 99T § 'COMANDERTION' T ## &ifed fohaT Srumm?



01. MYAOXNJDSHNM 02. MYZOXNJWSHMM
03. MYAOXNJWSHNM 04. MHAOXNJWTHNM
05. MYAOKNJWSHPM

Solution for Question 23

eng STANGOCHARLI = TSNAOGHCRAIL = Opposite + 1 = HINAMUTYJASP
BUTPHOBIDJMS = UBPTOHIBJDSM = Opposite + 1 = GZLHMTSZRXIO
hi STANGOCHARLI = TSNAOGHCRAIL = fa9&id + 1 = HINAMUTYJASP

BUTPHOBIDJMS = UBPTOHIBJDSM = fa9did + 1 = GZLHMTSZRXIO

Passage for Question 24, 25, 26 (ST-15SRRBPOPRE(24-26R)2020)
eng Passage

Study the following information carefully and answer the question given below.

The distance from point G to the point H which is in South is 9m. The distance from point F to the point G which is in east is 1 Im. The distance from point C to the
D which is in North is 4m. The distance from point E to the point F which is in North is Sm. The distance between D and E is 15m where point E is in West
direction. Similarly, the distance between points B and D where D is in South direction is Sm. Point K is 6m north of point B.

hi Passage

Arafafag STasTd £ 1 sqmgd T teggaT w AT A= T TT It F s

ffgGcafdgy,srafamde, Agodiz fgrafge, @A Mg 1A FgcafFgp, Sismag, A4 FgEafEgr v
I H g, AT LS A 21fEg D oY EF = i g3 15 Wiew 21 siet &g E ufaw feem § 81 361 9wz, &g B &fw D & = it g 5 i 81 5=t f4g D aferr
o d 8 Fg K, Fg B 6 Hex 3w H 7

Q-24  What s the distance between points K and C?

eng
03. 11m 04. 15m
05. 20m
Q-24 KT CF & 6 gL FT2?
hi
01. 7% 02. 94t
03. 114t 04. 154
05. 20t
Solution for Question 24
eng K
&
F 1 s a
5
2 g
D
E 15 | | 4
H
hi K
6
F 1 o a
5
S 9
D
E 15 | | 4

Q-25 Which of the following options makes a rectangle with four points?
eng

01. FGDE 02. BFED
03. FEKB 04. GDCE



05. KGFE
Q-25 fAwfafad @ & #19-a1 fAwer =7 fHgsh & U sraq aamar g2

01. FGDE 02. BFED
03. FEKB 04. GDCE
05. KGFE
Solution for Question 25
eng K
6
F 1 e e =
5 " 5
E 15 ‘ f
H c
hi K
6
F 11 s it g
5 " 5
E 15 ‘ f
H c

Q-26  Whatis the direction of K with respect to H?
eng

01. North-west 02. North-east
03. South-west 04. South-east

05. None of these
Q-26 HFHag H K &7 fRem #m 22
hi

01. 3ITe-vfzr 02. 3<-
03. zferor-ufam 04. zferor-qF
05. =% T IS AT
Solution for Question 26
eng K
6
F 1 n B
5 g 5
D
E | k
H (o
hi K
6
F 11 G B
5 g 5
D
E 15 I | i
H c

Passage for Question 27, 28, 29, 30 (ST-15SRRBPOPRE(27-30R)2020)
eng Passage

Study the following information carefully and answer the questions given below.



H is the husband of R who has three sons T, U and D. D is married to K who is the sister of N and daughter of G. B is the wife of U and she has a daughter, W.

hi Passage

fafafya Trasrd &1 eamgd® sregga L TR ooyt ® s
H, R FT 0T g, S| @9 92 T, U 3T D 81 D &7 faarg K & gravt € ST N T 529 g 3T G &1 = 81 B, U 3T IdT § 37T 390 UF T W gl

Q-27  How is N related to U?
eng

01. Uncle 02. Brother-in-law
03. Sister 04. Son-in-law
05. Cannot be determined

Q-27 N, UH#H g&fEaq g?

01. 3fehel 02. FeT-TA-AT
03. T 04. HT-zA-AT
05. fReifa 7t e S ket

Solution for Question 27

eng
H+ R- _ G
v S T
/ \\\_ RH'\
T+ B-— U+  D+=—K-—N
W-
hi
H+ R- _ G
v S T
/ \\\_ RH'\
T+ B-— U+  D+=—K-—N
W-

Q-28  Howis Brelated to T?
eng

01. Mother-in-law 02. Sister
03. Sister-in-law 04. Niece

05. None of these
Q-28 B, THFHHaITE?

hi
01. = 02. =&q
03. fEFer-zq-at 04. Hie
05. =% T F1E TE
Solution for Question 28
eng
H+ R- _ G
v S T
/ \\\_ RH'\
I Kz B- == U+ D+=—=K-——N
W-



Q-29

eng

W-

How is W related to R?

01. Grandson
03. Son

05. Niece
W, R & & Haferd 82

01. =99

03. =
05. i

Solution for Question 29

eng
H+ R- _
it s
i E
T+ B- — U+
W-
hi
H+ R- _
it s
i E
T+ B- — U+
W-
Q-30
eng
01. One
03. Four
05. None of these
Q-30
hi
01. u=
03. I
05. =% T FE 74
Solution for Question 30
eng
H+ R- _
it s
i E
T+ B- — U+
W-
hi
H+ R- _

02. Granddaughter
04. Daughter

)

)

How many females are there in the second generation if N is male?

TfT N 7&9 § a1 gt Tt 7 fohraet afgend 82

02. Three
04. Two

)



Passage for Question 31, 32, 33, 34, 35 (ST-15SRRBPOPRE(31-35R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

Eight persons Z, X, C, V, B, N, O and M are seated in a straight line facing north but not necessarily in the same order. O is at right end of the row. X is fourth to
the left of M. C is to the immediate right of M. N is second to the right of V. B and X are not immediate neighbours. M is not at any end of a row. There are two
persons between Z and B.

hi Passage

rafafad STasT F 1AM@Y AEIIT FE TATHAR FRTTT I ¥ IALRN

S AN Z, X, C, V, B, N, O 31T M U #freft 3wam & 37¢ it 7 4 F2 98 § AT Stedt a1 {3 =7 %7 # 211 O 4f*% F 310 G uw 81 X, M & ard
FTATZ C, M F T a1 81N, V F I3 TAT g1 B 37 X Teawrer TSt 981 g1 M df<h % freft oft ®i uw 781 81 Z 3T B & = 37 =7f< 2

Q-31  How many persons are seated between C and N?
eng

01. One 02. Two
03. Three 04. Four

05. Other than these options
Q-31  C TN F o1+ foraw ==f<F 95 82

01. U= 02.
03. fiw 04.
05. = fasreat % srefrar

Solution for Question 31

e e
Z X V B N M C O
. YW WY YW W W W\

44

Z X V B N M C O

Q-32 Which of the following represents persons seated at the two extreme ends?

eng
01. N.B 02. 7.0
03. C,7Z 04. v,M
05. M, Z
Q-32  =H F AW v sifaw Bt U7 8% srfeAt w wiafAfee wv g2
hi
01. N,B 02. 7.0
03. C,Z 04. VM
05. M, Z

Solution for Question 32

e el el el il




Z X V. B N M C O
oAt e
Z X V. B N M C O

Q-33 What is Vs position with respect to B?
eng

01. Immediate right 02. Immediate left
03. Second to the left 04. Third to the right

0S. Other than these options
Q-33 BF W H VAT Rufa Fma?

01. ey 02. e AT
03. ar gEeT 04. =T FrEeT
05. = fasreat % srefrar

Solution for Question 33

B e AEEEEET
Z X V. B N M C O
B e

Z X V B N M C O

Q-34 Four of the following five are alike in a certain way based on their seating position in the above arrangement and so form a group. Which is the one that
eng does not belong to the group?

01. VN 02. BM
03. CV 04. 7zv
05. XB

Q-34 ST FEeT ¥ Rufefed 7= § § =9 37 dod it Rufa & e 9% v [T 9 § UF 99 § T 90 UF 99 a91d gl 98 UF
hi FIA-AT & ST THE F Ga1ed Tai 82

01. VN 02. BM
03. CV 04. 7zv
05. XB

Solution for Question 34

QESEIIIELY.

Z X V B N M

C O
B Y
Z X V B N M C O

Q-35 What is the position of X with respect to O?
eng

01. Sixth to the left 02. Sixth to the right
03. Fourth to the right 04.  Fifth to the left



05. Immediate to the left
Q-35 O FHaw H XA Rafa w2

hi
01. =TT T =T 02. =TT AT 3T
03. =TT AT Fraw 04. FTT T qi=aT
05. @vﬁraTr\r

B B i B s
Z X V B N M C O
B
Z X V. B N M C O

Passage for Question 36, 37, 38, 39, 40 (ST-13RRBPOPRE(6-10R)2020)
eng Passage

Study the following arrangement carefully and answer the given question below.
TE16F#L7UJ9Q2%B3DAMN$V4X@050©K8*8GC

hi Passage

rafafag sgaear 1 (amgEF srsgga w2 AT fRg Ty FT39R

TE16F#L7UJ9Q2%B3DAMNSV4X@O50K8*8GC

Q-36 How many such consonants are there in the above arrangement each of which is immediately preceded by a vowel and immediately followed by a number?
eng

01. None 02. One
03. Two 04. Three

05. None of these
Q-36 ST FFAEAT | UH Fohaw =9 2, e T Taef UF a7 37 qEa a1 UF §E 87

hi
01. 75 7& 02. T
03. v 04. q=
05. =% T IS Al
Solution for Question 36
eng RU37&AT621PO#@WC<H ? 0O2E 8 9L %¥QIS$7 +
hi RU37&AT621PO#@WC<H ? O2E 8 9L %¥QIS$7 +

Q-37 How many such vowels are there in the above arrangement each of which is immediately preceded by a consonant and immediately followed by a symbol?
eng

01. None 02. Four
03. Three 04. Two

05. None of these
Q-37 ST AT H UH A w7 2, SFS qEa T2 UF S g oY i 918 UF T 16 22

hi
01. 7 7a 02. =%
03. 7 04. =7
05. =% T *rE T

Solution for Question 37
eng RU37&AT621PO # @QWC<H?O02EB89L %%QIS$7 +
hi RU37&AT621PO # @WC<H?O02E89L %¥QIS$7 +



Q-38

eng

Q-38

hi

If all the numbers are deleted from the above arrangement then which of the following symbol/letter will be eighteenth from the right side?

01. T 02. A
03. p 04. &
05. U

T ST HaedT § qit dearail &7 gt (oo S v (99 § § e -37 T 1%/37877 a9 F AgRgai a’m?

01. T 02. A
03. p 4. &
05. U

Solution for Question 38

eng

hi

Q-39

eng

RUATPO # @QWC <H?EL X%XQIS$ +
RUSATPO # @QWC <H?ELXXQIS$ +

How many such numbers are there in the above arrangement each of which is immediately preceded by a symbol and immediately followed by a
consonant?

01. None 02. Two
03. Three 04. Four

05. None of these
YL AFEAT | F foha=T Fear Uy g S qd T8 U Tdie T gia 918 U 2o 8?2

01. =7 =Y 02. =7
03. fie 04. =<
05. =% T FIS Al

Solution for Question 39

eng

hi

Q-40

eng

Q-40
hi

RU37&AT621PO# @QWC<H?02E89L %XQIS$7 +
RU37&AT621PO# @QWC<H?02EB89L %XQIS$7 +

Which of the following element is eleventh to the left to the eight from the right?

0. @ 02. W
03. # 04. O
05. 1|

rerforfaa § & 997 9 378 ¥ asd & 970 STegat gem?

01. @ 02. W
03. # 04. O
05. 1

Solution for Question 40

eng

Q-41

eng

RU37&AT621PO# @WC<H?O02EB89L %xQI$7 +
From Right =8 + 11 =191 =#

RU37&AT621PO# @WC C<H?02ES89L %Z0I1I%$7 +
AT =8+11=19=#

Average age of a class having 36 students is 16 years and 6 months. When certain number of new students entered in class having average age of 19 years
3 months, new average age of class becomes 17 years and 9 months. Find the total number of students who entered in class.

01. 24 02. 20
03. 32 04. 33

05. None of these



Q-41 36 TTAT AT FEAT T o16d g 16 AW 3T 6 TEIA & | 5T T A1 67 Fi2ra wwar § wear § waer foran et sfma ey 19 a9 3 7L off a1 ey

hi T TAT STET A 17 A T 9 AL T TAT| FoeqT H ToAeT o AT =it i et ST 1 hiord |
01. 24 02. 20
03. 32 04. 33
05. =8 T FTE T2
Solution for Question 41
eng From allegation method
16.5 19.25
17.75
1.5 1.25=6:5
Now 6=36
So 5=30
= fraor & e |
16.5 19.25
17.75
1.5 1.25=6:5
AT 6=36
3Ad: 5=30

Q-42 A scooter was purchased 3 years back its price is depreciated by 12% , 15% and 20% respectively in first, second and third year respectively. If its

eng present worth is Rs.29920. Find the price at which it was purchased.
01. 48000 Rs. 02. 50000 Rs.
03. 45000 Rs. 04. 52000 Rs.

05. None of these
Q-42  UF T A3 Y @ GIRT AT 11 36 qod | T a9, Gt o ao gd ab@ #Ae: 12% ,15% TAT 20% T g9 gall T SHHT aa9 go7
hi 29920 F9F g AT a8 oA AT shitord fore 9% TH GLIET 4T 4TI

01. 48000 &. 02. 50000 ¥.
03. 45000 &. 04. 52000 .
05. =it i 78
Solution for Question 42
eng Required answer = sggog x % 3 % = % = 50000
hi 3T‘3ﬁ'g ITT = 100 100 100
— 29920 % EXEXE=5OOOD

Q-43 Ifa: (b+c)=5:7 and c:(a+b)=2 : 3 Find the value of (a+2b) : (b+2c)
eng

01. 23:25 02. 47:59
03. 123:211 04. 175:213

05. None of these
Q-43 =T a:(b+c)=5:7 TT c:(a+b)=2 : 3 (at+2b) : (b+2c) FT A ATA TSI

hi
01. 23:25 02. 47:59
03. 123:211 04. 175:213
05. =77 FHIE Aol

Solution for Question 43

eng a: btc=5:7 =12)x5=25:35
c:atb=2:3=5)x12=24:36
now a=25 b=11 and c=24
required answer=25+22 : 11+48=47:59

hi a: btc=5:7 =12)x5=25:35
c:atb=2:3=5)x12=24:36
AT a=25 b=11 and c=24
AT ZAT=25+22 : 11+48=47:59



Q-44

eng

Q-44
hi

‘What approximate value will come in place of question marks (?) in the questions given below?

101.01 +10.001 +0.004 - 70.12="?

01. 80 02. 70
03. 60 04. 40
05. 50

e woit & weram=res (=g (2) 3 T U= ST 9T /I AT 2

101.01 +10.001 + 0.004 - 70.12 =?

01. 80 02. 70
03. 60 04. 40
05. 50

Solution for Question 44

eng

Q-45

eng

?7=111-70
?7=41
? 40

2=111-70
2=41
2 40

‘What approximate value will come in place of question marks (?) in the questions given below?

J35.84 +(18.005)" =7-784

01. 550 02. 600
03. 500 04. 700
05. 900

Freferfera w=1i & yerar=s g (2) 3 T 9% SRTART 97 /I AR 2
J35.84 +(18.003)" =7-784

01. 550 02. 600
03. 500 04. 700
05. 900

Solution for Question 45

eng

Q-46

eng

Q-46
hi

6+ (18)-1=7-784
2 =784+ 108

? =892

2 =900

6+ (18)-1=7-784
?2 =784+ 108

? =892

2 =900

‘What approximate value will come in place of question marks (?) in the questions given below?

01. 4 02. 1
03. 10 04. 3
05. 5

Trerforfea weit & weram=re (=g (2) F =T U= ST T /I AT 2

A169.00 x4/1206 05 s



01. 4 02. 1
03. 10 04. 3
05. 5

Solution for Question 46

eng ,_13x36

©18x26

1=1

hi L, 13x36
T 18%26

7 =1

Q-47 ‘What approximate value will come in place of question marks (?) in the questions given below?

eng s - %

19;x6%;+2.005+—1—14=7

01. 700 02. 600

03. 500 04. 800

05. 900
Q-47 FwfafEd vt § war=e e (7) F I T8 T #4771 A4 2
hi

197 x61 |<2.005+444 =2
L 92

01. 700 02. 600
03. 500 04. 800
05. 900

Solution for Question 47

eng 72=114+2+444
? =501~ 500

hi ?7=114+2+444
? =501 =500

Q-48 ‘What approximate value will come in place of question marks (?) in the questions given below?

e 9010 + 79.90 x 39.98 - 599.81 = ?

01. 4500 02. 3900

03. 6600 04. 5400

05. 9000
Q-48  fA=farfea woai & wraras g (7) F T 9% RTART #4971 |19 ST 2
hi

9010 +79.90 x 39.98 - 599.81 = ?

01. 4500 02. 3900
03. 6600 04. 5400
05. 9000

Solution for Question 48

eng ?7=112.5 x40 - 599.81
?=4500 - 600
?=13900

hi ?=112.5 x40 -599.81
?=4500 - 600
?=13900

Q-49 A jar contains a mixture of copper and zinc in the ratio 7:5. If 9 kg of the mixture is replaced by 9 kg of zinc, then the ratio of copper and zinc becomes 7:9.
eng How much copper was there in the jar initially?



01. 16 02. 18
03. 56 04. 15
05. None of these

Q-49  UF FAT | HUL A SF F F=or F7 sqona 7: 5 7] A 9 Franm frmor w9 e 5 7 a@er o= sar 8, a1 w7 3 [ &1 g 7: 9
hi BT ST 8| a7 9% H a9 § Tt Hie am?

01. 16 02. 18
03. 56 04. 15

05. T & FrE TS

Solution for Question 49

eng C Z
7 5
7 9

Increase in zinc 4 79
127 27
Initial quantity = 27+9=36
Then initial quantity of zinc = (36/12)x5 = 15 kg.

hi C Z
7 5
7 9

Increase in zinc 4 —9
12— 27
Initial quantity =27+9=36
Then initial quantity of zinc = (36/12)x5 = 15 kg.

Q-50 Ratio of earnings of A and B is 8 : 9 respectively and the ratio of their saving are 7 : 8. If the salary of A is increased by 20% and salary of B decreased by

eng 25%. What is the new ratio of their savings, if expenditure remains same?
01. 4:3 02. 5:4
03. 2:3 04. Can't be determined

05. None of these
Q-50 AT BT I T AT HHLT: 8 : 9 &, TANT Fad T (1T 7: 8 Bl TTE A ¥ 30 § 20% qfax 3T B AT 0T § 25% 1 FH#T 6 ST ar 307
hi T FHT ATATT AT i 1o TS 7T H IS THaad 71 F6a1 S

01. 4:3 02. 5:4
03. 2:3 04. fHgifea a5t AT ST asFar g
05. = ¥ 7S E

Solution for Question 50

eng Can't be determined

hi FRratfia 72t T ST aswar g

Q-51 Sum of square of first number and cube of second number is 568 together. Also square of the second number is 15 less than square of 8. What can be the

eng value of three fifth of the first number? (assuming both the numbers are positive)
01. 9 02. 12
03. 11 04. 7

05. None of these

Q-51  TEeHT AT % A ST AL €AT o °F AT T AR & T 568 J1 THL ST T a9 § F a3 & 15 FH | TIH HCAT % 3/5 T I FAT 21 a9l
hi 22 (9T & T3 FA1 " gATeHE §

01. 9 02. 12
03. 11 04. 7
05. =i 7 ATE T

Solution for Question 51

eng a?+b3 =568
b2+15=64 ? b=7



Q-52

eng

Thena=15
Required answer = 15 x 3/5=9

a2 +b3 =568
b2+15=64 — b=7

qra=15
FfE I =15%3/5=9

What should come in place of the question mark (?) in the following number series?

18 9 9 13.5 27 ?
01. 675 02. 65.7
03. 76.5 04. 755

05. None of these
Frerferfera & yeirs g saer #§ wrf=eT (2) 3 T 9% F#T AET 2

18 9 9 13.5 27 ?
01. 67.5 02. 65.7
03. 765 04. 755
05. o7 A TS AT

Solution for Question 52

eng

hi

Q-53

eng

x0.5,x1,x1.5,x2,%x2.5
x 0.5, x1,x1.5,x2,%x2.5

What should come in place of the question mark (?) in the following number series?

62.5 125 250 500 ? 2000
01. 1050 02. 1200

03. 1500 04. 1000

05. 1250

et e gaer | weat=eg (2) F T 9 F7 AT 2
62.5 125 250 500 ? 2000
01. 1050 02. 1200

03. 1500 04. 1000

05. 1250

Solution for Question 53

eng

hi

Q-54

eng

Q-54

hi

X2, X2 X2 X2 X2
><2,><2’><2’><2,><2

What should come in place of the question mark (?) in the following number series?

3 24 ? 1008 5040 20160
01. 166 02. 168

03. 169 04. 170

05. 160

fReferfed dem T # wafeeg (2) F T 2 F97 SR 2

3 24 ? 1008 5040 20160
01. 166 02. 168

03. 169 04. 170

05. 160

Solution for Question 54



eng X8 xT, x6,%x5 x4
hi x 8, % 7,%6,%5,x4

Q-55 What should come in place of the question mark (?) in the following number series?

eng
5 15 35 75 155 ?
01. 320 02. 315
03. 318 04. 312
05. 325
Q-55 Fwfaied S S@ar § WA= =g (?) F T 9 F47 S92
hi
5 15 35 75 155 ?
01. 320 02. 315
03. 318 04. 312
05. 325

Solution for Question 55
eng X2+5x2+5xX2+5 x2+5 x2+5
hi X2+5,x2+5 %x2+5,x2+5x2+5

Q-56 What should come in place of the question mark (?) in the following number series?

eng
25 88 124 187 223 ?
01. 259 02. 268
03. 286 04. 826

05. None of these
Q-56 fA=fofad @ woe g daar § wIf=e (?) % S0 9% F47 T ?

. 25 88 124 187 223 ?
01. 259 02. 268
03. 286 04. 826
05,z & 7€ T

Solution for Question 56

eng + 63, + 36, + 63, + 36, + 63

hi + 63, + 36, + 63, + 36, + 63

Q-57 The profit earned by selling an article for Rs. 2465.5 is equal to E of the loss incurred by selling that article for Rs. 2112. What is the cost price of the
eng 4

article?

01. Rs2122 02. Rs.2416
03. Rs.2314 04. Rs.2258
05. Rs.2296

Q-57 T T HI &, 2465.5 H S= T ITH ATH 4T 7l &, 2112 § F9 T g2 g % %%FW%I FEG T FHT T FIT 872

01. =.2122 02. =2416
03. =.2314 04. =.2258
05. =.2296

Solution for Question 57

eng Let the cost price of the article be Rs.x
(2465.5-x)=2(x —2112)
. i

9862 —4x =3x—6336



Tx=1619%
x =2314

hi HTAT 9% H1 F7 [T x % 7|
(2465.5-x) = (x -2112)
9862—4x =3x —6336
7x =16198

x=2314

Q-58 A train travels a distance of 384 km at an average speed of 160 km/h from station A to station B. It then travels back to A taking 5 h 36 min. Find the
eng average speed of the train on the return journey to A.

01. 144 kmph 02. 72 kmph
03. 40 kmph 04. 120 kmph

05. None of these
Q-58  TUF I TN A ¥ T B T 384 FHHT. T UH T FT 160 THHT./weT FT SiEd A1t F T FIAT ¢ | T2 e aT99 A Y o7 5 5 36 e § a7

hi FIAT ¢ | ATTT A F¥ ST ATAT A | o 0T S AT A1 oy |
01. 144 F5ft /eeT 02. 72 et eier
03. 40 fefi feier 04. 120 fft/AeT
05. it & TS R

Solution for Question 58

eng Average speed = Total Distance / Total Time taken
Total distance = 384 + 384 = 768 km
t = 35 B hours, t) = 5 hours 36 minutes = 5.6 hours

160
Total time taken = 5.6 + 2.4 = 8 hours

Therefore, average speed = ﬁ =96 kmph
8

hi SITEa =T = {A LT/ |/ (T 97 q97
T T = 384 + 384 = 768 Tl
=23 —o4w =5HE 36 e =560
160
F FoRAT T AT = 5.6 + 2.4 =8 ¥

o, afvra =Ter = 108 = 96 famfY /e
g

Q-39 The perimeter of a circle and a rectangle is equal. The measure of the sides of the rectangle is 18 cm. and 26 cm. respectively. What will be the diameter of
eng the circle?

01. 7cm. 02. 12 cm.
03. 49cm. 04. 14cm.

05. None of these
Q-59  UF I 3T UF A T TATT TH | AT 1 ST 60 ATT FHLA: 18 Y. 3T 26 Y. g1 I H7 247 F47 &2

01. 7 3. 02. 12 JH.
03. 49 I 04. 14 .
05. =9H F IS TGl
Solution for Question 59
eng 2mr =2(18 + 26)
nr =44
r=14
Diameter of the circle =28 cm.
hi 2mr = 2(18 + 26)
nr =44
r=14
T T ATH = 28 HHI,

Q-60 Each of the questions below consists of a question and two statements numbered I and II given below it.You have to decide whether the data provided in
eng the statements are sufficient to answer the question. Read both the statements.



What is the value of prime number p?
I. p?+ p is a two digit number greater than 50
1L p3 is a three digit number.

01. Onlyl
03. BothIandII
05. EitherIorll

02. OnlyIl
04. Neither I nor II

A= R T ek e ® U e T T 8 ST &7 e 1SR 1 39 Ay o E | sraeny 78 Aoty weAr € B § & ol e v v

IAC I F or0T I & | ST BT R AR |

T HEAT p T TH FATE 2

L p? + p TF FsfirT He £ 5 50 A Ao |

11 p? Ta i s Tear g |

01. FaeT1
03. [=fiTI=MT
05. ITarIaT

Solution for Question 60

eng

hi

Q-61

eng

Q-61

hi

Only I
Fa [

02. Fa<T 11
04, FEITM

n
A person has to cover a distance of 56 km. in 45 minutes. If he cover one-half of the distance in ~ rd of the total time, to cover the remaining distance in

the remaining time, his speed must be -

01. 88 km/hr.
03. 112 km/hr.
05. 90 km/hr.

U TR & 56 T, T g3 45 e A ag Far g | Ffs ag snehf v T | a9

I AT T AT |

01. g faet./=aT
03. 112 et /maT
05. 90 T3t /=aT

Solution for Question 61

eng

Q-62

eng

Remaining Distance = (56-28) = 28 km
Remaining Time = (45 - 45% ) = 15 minutes
Speed = Distance

Time
28 28=60

=15 s
60
=112 km/hr
AT FIT = (56-28) = 28 T,
AT TH = (45 - 45x ) = 15 A=

i)
HA=_&
S5
28 28x60
=55 15
60
=112 et /e

02. 96 km/hr.
04. 84 km/hr.

02. 96 ffy./=aT
04. g4 ffy./=ar

3

gwmﬁwwé,miﬁaﬁmmﬁwmﬁﬁ
3

Each of the questions below consists of a question and two statements numbered I and II given below it.You have to decide whether the data provided in

the statements are sufficient to answer the question. Read both the statements.

Anushika says to Shagun, "I am 3 times as old as you were 3 years ago".How old is Anushika?

1. Shagun‘s age 17 years from now is same as Anushika’s present age.
II. Anushika’s age nine years from now is 3 times Shagun’s present age.



01. Only1 02. Onlyll
03. BothIandII 04. Neither I norII

05. EitherlorlIl
A= form o sk wor W e vy AT A 8 ST J1 RAA 1T 1 36 A R e § | sroenr 7 Aot A 8 5 e ' & Y SR e a6
IAC A F foru gty & | <l Rl AR |

STOHT 9N & Fgdll &, "H eI 3 A wged 7 A BT 3 IATE " | AT AT AL FATE 2
L. 9N T 3T Tt & 17 a9 qT< AT UHT 6T A A F a7 g |
1. AT 67 3 T T 9 A 1T ON[F T AAHT 17 FT A AT g1 ST |

01. Faerl 02. Feer I
03. [T U= 04, FEITI
05. FravIaTll

Solution for Question 62

eng

hi

Q-63

eng

Only I
Fa [

Mr. Surendra invested Rs.20000 with rate of interest at 20 p.c.p.a. The interest was compounded half yearlyfor the first year and in the next year it was
compounded yearly. What will be the total interest earned at the end of two years?

01. Rs.8800 02. Rs.9040
03. Rs.8040 04. Rs.9800

05. None of these
Mr. Surendra invested Rs.20000 with rate of interest at 20 p.c.p.a. The interest was compounded half yearlyfor the first year and in the next year it was
compounded yearly. What will be the total interest earned at the end of two years?

01. Rs.8800 02. Rs.9040
03. Rs.8040 04. Rs.9800
05. None of these

Solution for Question 63

eng

Q-64

eng

, _ [ 10%(, . 20)
Required amouont= 20000 1+ —— e BT
. loo) i 100)

= 20000% 2 12,8

10 10 5

=Rs.29040
Compound interest = Rs.29040 - Rs.20000 = Rs.9040

Each of the questions below consists of a question and two statements numbered I and II given below it.You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements.

What is the radius of the circle
1. Ratio of its area to circumference is > 7
II. Diameter of the circle is < 32

01. Only I 02. Only II
03. BothIandII 04. Neither I nor II

05. EitherIorIl
A= fo o s weor W U v AT I 8 T 1 FAA 1T 1 36 A fRu e 8 | sraewt 7 i w4 8 6w # < Rl ST v v
IAL 3 F forur a7ty & | < FEEt A 9@ |

ESEIRERRIER IR
1. T8 &A% AT TS F Sqad > 7 € |
LT F AT <32E

01. Fa71 02. Fa<T 11
03. [T IS 04, FEITM
05. gTarIaTll

Solution for Question 64

eng

Neither I nor 11



hi FEITM

Q-65 The length and breadth of a rectangular plot is 10 cm. and 8 cm. respectively. If the length decreases by 20% and breadth decreases by 25%, by how
eng much percent the original area would be decrease?

01. 30% 02. 45%
03. 60% 04. 40%
05. Can't be determined

Q-65  UF SIATHIT WoATE T AFATS 3T ATSTS HAer: 10 T, 3fv 8 Fft. g1 7f% AwaTE 20% 37T AT 25% =a1 & ST v &=rher 7 fovay wiera
hi TRt AT

01. 30% 02. 45%
03. 60% 04. 40%
05. fRetfg 72t frar ST awFar g

Solution for Question 65

eng Original Area= 10 x 8 =80 cm.?
New length = 10 x ﬂ =8 cm.
100
= —6cm.
100

New Area= 8 x 6 =48 cm.2

(80 —48) 32
BO=8) i00 =

New breadth = 8 x

Area decrease in % = =100=40%

(7]
=

Trick : - 20 - 25+ (=20)(=25) — 49
100
=40% (Decrease)

hi T SFAHA = 10 x § = 80 FHT.?
T g = 10 x 39 = g A,
100
TR =g =8x ° =&,
100
TAT STHA = 8 X 6 =48 cm.2
AR | % FHT = Mxlg[]: 31><1E]0=40%
80

(sl
=

gew Ay -20-25+ L2025 = 40
100
= 40% (FHT)

Q-66 Each of the questions below consists of a question and two statements numbered I and II given below it.You have to decide whether the data provided in
eng the statements are sufficient to answer the question. Read both the statements.

Sushil distributed 43 chocolates to his children. How many of his children are more than five years old?
I. A child older than five years gets 5 chocolates
II. A child 5 years or younger in age gets 6 chocolates.

01. Only I 02. Only II
03. BothIandII 04. Neither I nor II
05. EitherIorIl

Q-66 = W T we® W H UF T AT AT 2 #fY F1FAT [ ST 11 38 A (G0 0 | At g o wwAr § 6w 7 & Wl STy o
hi IAC A F foru gty & | ST HAAT A AR |

et 43 FThore 99 It & iedr g | Sa% Thaw ag o= it arg 7 srfaes 32
L. 53 ¥ ST & ATer 7 UF agT 5 Aol TH FLAT & |
I1. 5 a9 T AT AT I8 BT TFT 6 AlThele TH FLAT g |

01. FaeT1 02. Fa<T 11
03. 13T AT 04, FFITI
05. ITarIaTll

Solution for Question 66

eng From both statement I and II:



Q-67

eng

Q-67

hi

Let the number of chocolates received by child older than 5 years be x and that of for child than 5 years or younger be y
Therefore,

Sx+6y=43

Since x and y has to be natural numbers, the solution for the above equation will be x=5 and y=3

Hence, 5 children are older than 5 years

IEESIEIER TR

AT 5 a9 ¥ 2 T Fl T AR x 3 3T 5 9 AT ITH e I Hl {0 qTell AFAT y 3 |
Iqq:,

5x+6y=43

T x 3T y T ST - ST WTFTAH H&ATU &, FAT &F T qeiaor & forg
TABMTx =5 3Ty =3

qq:, SagSsavTaaS g

Each of the questions below consists of a question and two statements numbered I and II given below it.You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements.

Is it more profitable for Cadbury to produce chocolates?
1. Biscuits sells at a price four times that of chocolates.
II. One unit of chocolate requires 2 units of labour, while one unit of Biscuit requires 5 units of labour. There is a no other constraint on production.

01. Onlyl 02. OnlyII
03. BothIandII 04. Neither I norII

05. EitherTorII
A= o 0 ek e ® U W T AT 8 ST &7 e 1SR 1 39 A fow w § | sraeny 78 Aoty weAr € B wum § & ol e v v
IAC I F o0 T2t & | ST R R AR |

FT FEal F o0 AThole SATET TR g ?

1. forege T |Atdhere & FTT AT 1H 92 J=7 A9 ¢ |

I1. Fehele &1 UF THTS HT AT § 2 ATAF AT AT &, ST [AERe T Tk THTS HT WA H 5 TTAE =7 AT ¢ | THH AATAT ITATET T 37T
FIE AT AL E |

01. Faerl 02. Fa Il
03. [3fT == 04. FATIFSI
05. FrarIaTll

Solution for Question 67

eng

Q-68

eng

From statement I :

Let the price of chocolates be ‘x’

Then the price of Biscuit is 4x

From Statement I1:

Cost of chocolates = 2

Cost of Biscuit =5

Therefore,

Profit percentage of chocolates = (x - 2) x 100/2 = 50(x - 2) = 50x — 100
Profit percentage of Biscuits = (4x - 5) x 100/5 =20(4x - 5) = 80x - 100
Hence, Biscuit is more profitable.

Both statements are required to answer the question.

FATIH:

AT AT FT ToF X' 3 |
T foege T g7 4x & |
FATIH:
FiTHeTe T AT = 2
e it =5

o,
Hiehore T ATH TFALTAAT = (x - 2) x 100/2 = 50(x - 2) = 50x — 100
ferege &t AT gideradr = (4x - 5) x 100/5 = 20(4x - 5) = 80x - 100
o, faege SATRT AT ¢ |

FIAT FAT ToT HT IAL & % (o1 TATH ¢ |

10 years back, the sum of the ages of mother and her daughter was 45. If the ratio of their present ages be 9:4, then what is the ratio between their ages
after 5 years?

01. 5:3 02. 3:2
03. 2:1 04. 4:3
05. 3:5



Q-68 103 Tg U HYAT 3T [T 6T I FT AR 45 T A7) T I FTH 37 FT SATATT 9 : 4 3 AT 5 AT THTT IAHT A F &9 T AATT b1
hi grm?

01. 5:3 02. 3:2
03. 2:1 04. 4:3
05. 3:5

Solution for Question 68
eng Total Present Age, (M + D) = (45 + 20) = 65 years
Mothers age = 2 x 65 =45 years
13

Daughters age = i x 63 =20 years
13
Ratio after 5 years = (45 +5): (20 +5)=50:25=2:1
hi FA AARTT 3T, (M + D) = (45 +20) = 65 a9

ATAT T &A1 = %xéi =4539
g‘aﬁaﬁm:%xeszzoaﬁ
sﬁ%ﬁmagc?ﬁr=(45+5):(20+5)=50:25=2:1

Q-69 A man spends b th of his salary in house rent, 2. th of his salary on food and L th of his salary of Education. If he still has Rs.4200 left with him. What is
eng 5 10 8

25% of his salary?

01. Rs.2500 02. Rs.6000
03. Rs.4000 04. Rs.8000
05. Rs.2000

$-69 Q%@%WW’IW%WTW%FWﬁ, %'ﬂwsﬁsﬁrwaﬁt éwf@ra'rq'{@ém'r@?I%ageﬁﬁ%ﬁﬂooawém%wﬁwzr
1 o]

T 25% TRT FAT 2

01. %2500 02. %6000
03. %.4000 04. =.8000
05. %2000

Solution for Question 69
eng Rest amount= 1 —

—

Now, — = 4200
40

Total salary = Rs.24000
25% of salary = Rs.6000

hi g 3

AT TTFr = 1- —i—i+l |

10 8
_"16+12 +357)
40 J

[ 2 [

=1
10
@, = 4200
10

e AT = £.24000
T T 25% = %.6000

Q-70 A shopkeeper marks his goods at 20% above the cost price. He allows his customers a discount of 8% on marked price. Find out his profit percent?
eng

01. 10% 02. 10.2%
03. 10.3% 04. 10.4%



05. None of these
Q-70  UF THFWET AT ATHIT T2 HT T H 20% ST SiFha F7am 3| a8 ST ATEh! &l i{ohd T TT 8% i T <dT &, ST AT Traerd 1 H2

01. 10% 02. 10.2%
03. 10.3% 04. 10.4%
05. =it i 7S

Solution for Question 70

eng Let the C.P. =Rs.100
M.P.=Rs.120
92

Selling price = 120x — = Rs.110.4
100

Profit % = 10.4%

hi HET F7 o7 = £.100
s o = %.120

AT T = 120522 = %.110.4
100

TH % =10.4%

Passage for Question 71, 72, 73, 76, 80 (ST-06 SBI CLERK 2018 (31-35))

eng Passage

Read the following graph carefully and answer the questions given below.

Monthly Sale of a certain product (in Rs. thousands) of a company in different months in three years.

2015 2016 [m2017

320

315

310

JANUARY FEBRUARY  MARCH APRIL MAY

hi Passage
e ars 1 eamaEE srerae FY A= O T e F 397 )
i 7t # fafre #me # v Fr F G o i G5 @ E #)

2015 2016 [ 2017

320
33

310

S ard e o ST

S ER

Q-71 The monthly expenditure in May in 2016 is what percent more than that in February in 2017?
eng



01. ¢ 02. 8
03. 4 04. 10

05. None of these
Q-71 2016 % W< ¥ ATRT =47 2017 H FaLT ATCHF 247 & fohaw gfaerd sifas 22
hi

01. ¢ 02. 8
03. 4 04. 10
05. =H F A2 TG

Solution for Question 71

eng Percentage increase = 18 100=6
300
a ﬁ?ﬁﬂ'@f=£x]00=6
300

Q-72 What is the difference between the average monthly expenditure in 2015 and that in 2016 in all the months together?
eng

01. Rs.6200 02. Rs.6800
03. Rs.6000 04. Rs.6500

05. None of these
Q-72 =t AR § AT 2015 ¥ SfEa ATEF AT S 2016 | T AT T F S =< F47 82

hi
01. =.6200 02. %.6800
03. %.6000 04. %.6500
05. =% T FIS 7T
Solution for Question 72
eng Difference = 1578 1842 _p¢ 6000
6 6
B gev = 1878 1842 5 6000
6

Q-73 The monthly expenditure in February in 2016 and 2017 is approximately what percent more than the average monthly expenditure in 2015 in all the months
eng together?

01. 90 02. 87
03. 97 04. 82
05. 94

Q-73 2016 T 2017 # wal § AIEE =7 2015 H 7+ A1g H AT e AT =77 & ra fohaw gfaera stfas 82

01. 90 02. 87
03. 97 04. 82
05. 94

Solution for Question 73

eng Percentage increase = = %100 = 94 (approx.)
313
i gfaera g = 293 . 100= 94 (T¥)

313

Passage for Question 74, 75, 77, 78, 79 (ST-RRB POPRE MEMORYBASED-03)
eng Passage

Study the following information to answer the given questions-

There are 7200 students studying in a college. Number of B.Sc. students is less than 15% the number of B.A. students. 12% of total students are studying in M.A.
and 15% are studying in M.Sc. Remaining students are studying B.Com. and M.Com. Number of M.Com students is 506 more than the number of B.Com.
students. 78.71% of M.Sc. students are equal to the number of B.Sc. students.

hi Passage




frewrTast F s v fAwfofag srasd srasgaa -

TS TSt § 7200 =it steqaaea § | Ft.ueEr. & et & @ear &1.u. & Gty £ @71 T 15% 79 2 | | ==t § 7 12% viaad va., §
FETALA & ST 15 Terd UH .U, § 72777 2 | a9 @Ay S w19, 3T UH.A | Jeqg_ed | UH.A fFetieE i @ & st HetiE i
AT & 506 AfAF g | TH.UEHY. F 78.71% Faamft ft westy. F o1 et & d@en % aweaw gl

Q-74 What percentage more/less is students of postgraduate than the students of graduate?
eng

FN— B. 4,
— 0 16 —
¥ % 11 %

C. 20 D. 2 g
1?11/0 1811/‘6

E. None of these
Q-74  ATTHAL F BT ATTF & ST & Fohae Tqera SATaw/F4 872
hi

A. 1 B. 4,
S| —
19—% 161_1 Yo
C. Fag D. .24
193 % 18 %
E. sﬂ-ﬁ’@rqﬁ—%q@’

Solution for Question 74

eng Total students of Postgraduate =864+1080+1956 = 3900
Total students of Graduate = 7200-3900 = 3300

3 L S 3
Required more percentage = 3900-3300 «100=18 ﬁ 05

Q-75 What is the ratio of average of students in all streams to the 10% of B.Sc. students?
eng

A, 240:17 B. 240:7
C. 12:17 D. 17:15

E. None of these
Q-75  T¥ft fFam =T % ST T S UEEY. F B F 10% F AT ST FAT 82
hi

A. 240:17 B. 240:7
C. 12:17 D. 17:15
E. =9 ¥ #rE a8l

Solution for Question 75

T
eng Average of all students = _ 2 6
6
1200
Required ratio= "1 es0 =240:17
100

g H%ﬁam*maﬁﬂﬁ:%%

1200
aflgsima= 15 Lgep " 240:17
o5 <&

Passage for Question 71, 72, 73, 76, 80 (ST-06 SBI CLERK 2018 (31-35))

eng Passage

Read the following graph carefully and answer the questions given below.

Monthly Sale of a certain product (in Rs. thousands) of a company in different months in three years.

m2015 2016 2017

320

315 e 18

310 312 12

305




JANUARY FEBRUARY  MARCH APRIL MAY JUNE

hi Passage

fAeferfd I 7 ereIE® Terae FT = 0@ T e F 39 de)
T Ut # o 7T § UF FEAAT 6 S 3care i @ (39 €. H)

m2015 2016 2017

320
3135

310

L

Q-76 The monthly expenditure in April in 2016 is approximately what percent of the total monthly expenditure in all the months in the same year?
eng

01. 20 02. 17

03. 23 04. 18

05. 12
Q-76 2016 H T ¥ ATTHF =07 T a9 T AT § F{ AT 7T FHT AT TohaeT Tfderd g2
hi

01. 20 02. 17

03. 23 04. 18

05. 12

Solution for Question 76

eng Percent = AL, %100 = 17 (approx.)
1842

K srl%rsem=£xmo=17(mw)

Passage for Question 74, 75, 77, 78, 79 (ST-RRB POPRE MEMORYBASED-03)
eng Passage

Study the following information to answer the given questions-

There are 7200 students studying in a college. Number of B.Sc. students is less than 15% the number of B.A. students. 12% of total students are studying in M.A.
and 15% are studying in M.Sc. Remaining students are studying B.Com. and M.Com. Number of M.Com students is 506 more than the number of B.Com.
students. 78.71% of M.Sc. students are equal to the number of B.Sc. students.

hi Passage
frowrTast F savH fae fAwfafag Srasrdh srasgga w1 -
T Fierst # 7200 FErmedT sregamea € | At uery. 3 et £ der &t.u. F ety £ e & 15% 737 8 1 F1o et § 7 12% g e, &

FLATALT 8 ST 15 Tiaaa U, uae. § steqa=ed g | a9 Grmeft ft w9, v va.F19 § steqa=ea g1 v fEenf¥ey £t gear &t wiq. Gty £
AT & 506 ATAF g | TH.UEHT. F 78.71% A=t ft wasy. F a1 et & e % awew gl

Q-77 The ratio of boys and girls studying in B.Com is 3: 2, and girls studying in M.com. is 196 less than boys. What is the average of girls studying in these two
eng streams?



A. 447 B. 437
C. 480 D. 730

E. None of these

Q-77  SNFH. H IeA AT ASHI ST ASTHAT T AT 3:2 &, TAT TH.AH, § T ATAT ASTHIT AZHE T 196 FH g1 39 IA1 [AWRN H e a1edt A=t
hi T A FIT 82

A. 447 B. 437
C. 480 D. 730
E. % TS T8
Solution for Question 77
eng
Subjects Number of students
M.A. 8564
B.SC. 850
B.A. 1000
M.Sec. 1080
B.Com. 1450
M.Com 1956
Girls studying in B.Com. = 580
Girls studying in M.Com. = 880
Average of girls = M =730
>
hi e :
R Rienfei=if <6t dw=n
TH.E, 864
=, wEEt 850
1A 1000
W, TEET 1080
=T, /T, 1450
TH, . 1956

st M. | ye arelt asfrar = 580
A%, H g areft defrm = 880

ot o o = 580880 _ o

Q-78 In the mid of the session, 6% students of B.Com. take B.Sc. Find out what will be the percentage of students of B.Sc. of the number of students of BA?
eng

A 93.7% B. 194.5%
C. 193.7% D. 945%

E. None of these
Q-78 T F A H & A AT F 6% B . UHEHT F A7 g1 0 Fory fr vEeft F g i d@wewr .w v g i st #w51 fraar gied gefr

A. 93.7% B. 194.5%
C. 193.7% D. 94.5%
K.z i ATE

Solution for Question 78

eng Number of students of B.com = 1450
Number of students of B.Sc. = 850 + 6% of 1450 = 937
According to the question,

Required percentage = - 100=93.7%
1000

hi =t Fm. & =E e = 1450
<t wE. % BEn s aear = 850 + 1450 = 937 %1 6%
T % TIEW,

Frer = 937

10010

=100=93.7%




Q-79 The ratio of boys and girls taking admission in M.A. is 3: 5. 18% of the girls in the examination failed and 22% of the boys passed. Find out what is the
eng ratio of successful girls to successful boys?

A. 246:55 B. 123:55
C. 12:7 D. 3:5

E. None of these
Q-79  TH.UH T A ATl TSI AT ASTHAT T AU 3:5 F1 TETAT H A TRAT BT 18% A TohAT STEhet T ST AT 22% THel 21 2| F1 e
hi TFA ASTHAT T THA ASHI T SAITT FT 82

A 246:55 B. 123:55
C. 12:7 D. 3:5
E. =98 §#rs T8t

Solution for Question 79

eng Number of girls taking admission in M.A. = 324
Number of boys taking admission in M.A. = 540
Passed girls = 82% of 324
Passed boys = 22% of 540
Required ratio = 123 : 55

hi TH.T, B Y9 A FTeT TS fohal shl HEAT = 324
TH.T,  JAY A ool dSehi shl AT = 540
TheT AS (AT T T = 324 F1 82%
Tthel TShi h! T = 540 T 22%
STev I = 123 : 55

Passage for Question 71, 72, 73, 76, 80 (ST-06 SBI CLERK 2018 (31-35))

eng Passage

Read the following graph carefully and answer the questions given below.

Monthly Sale of a certain product (in Rs. thousands) of a company in different months in three years.

m2015 2016 2017

320

315

310

JANUARY FEBRUARY MARCH APRIL MAY JUNE

hi Passage
et a1 e steras w5 = @ T w3 fim
T oot # Fafersr #rg # weh Fet o et geare i faef (@9 . ")

2015 2016 [m2017

320

35

310

105




o

Q-80  What is the respective ratio of monthly expenditure in 2016 and 2017 in all the months together?
eng

01. 315:301 02. 323:319
03. 321:311 04. 307:303

05. None of these
Q-80  =ft \TE F AT 2016 3T 2017 H 7R =77 F = FHwwer: ST #4722

01. 315:301 02. 323:319
03. 321:311 04. 307:303
05. g & 7S T

Solution for Question 80

eng Ratio = 1842 : 1818=307 : 303

hi AT = 1842 : 1818=307 : 303




